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(15%) Solve the general solution of the following differential equations:
Nl Ga WAL ESawra i )
(1) y'=2cos2x; (2) Y42y =" ;(3) (x- ) y'+2(x=1)y'-6y=0

(10%) Solve the following initial value problem [f## T %I{#sr 202 RE):
V' +9y=36e"; »(0)=0, y(7/2)=0

(15%) Find the Laplace transform of the following functions [3K %I HELZ f1iI
REHA r(s)=L[r(n]):

() f(6)=8~e™ +5,@) /()= [ rsinzdr; Q) f(O)=2—" [ f(x)edr

(10%) Use the Laplace transform to solve the given system equations [F{|FIHIIES

S AN vyt +J, v =L, x(0)=0
—4x+y=0
o2 3x]| [4]
(15%) SKERLLFGHEHT FTER AL 2 5 3y =§s
1 0 8|z| |9]

(1) R EEEE 77%E(Gauss-Jordan method) () {6 K AR T 2R AR
(3) {FERAE A ARI(Cramer’s rule) ©

0| 0] [1
M|
(15%) {F A Gram-Schmidt [FAT{LFEFE » 18 w, 1; ,w2=|; ’w3=“ EAET
AU .
HESJE (orthogonal basis) {uy,u,,u,}
!-x1+2x2"
(10%) SEEEIR TR >R R THE: T(["j]z e
L 2% =Xy |

(1) SRIBME A FEETm=Ax; () AEHERIIZENullity) 2275 (Rank).

211
(10%) %EEEAT 2 1‘; (1) K4FB{E(Eigenvalues), (2) KEHHEE
11 2

(Eigenvectors), (3) ;{%ﬂg[ﬁ@ A ¥78{L (Diagonalizing) °



